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I. EXPERIMENTS: SOME VISUALIZATION OF RESULTS

We include the visualizations for the ’Analysis of Robustness’ to noise experiments in the manuscript. Figure 1 corresponds
to the experiment in Figure 4 (left) in the manuscript, and Figure 2 corresponds to the experiment in Figure 4 (right) in the
manuscript.

II. DERIVATIONS AND PROOFS OF THEOREMS
A. Functional Gradients
We present first the definition of functional gradients so that we can define the gradient of the potential.

Definition 1 (Functional Gradients). Let U : Diff(R") — R. The gradient (or functional derivative) of U with respect to
¢ € Diff(R™), denoted VU (¢), is defined as the VU (¢) € T,Diff(R") that satisfies

U@)-v=[ VU@ v m

for all v € TyDiff(R™). The left hand side is the directional derivative and is defined as

SU(¢p) - v := iU(gb + ev)

de @

e=0
Note that (¢ + ev)(x) = ¢p(x) + ev(p(x)) for x € R™

We now show the computation of the gradient for the illustrative potential used in this paper. First, let us consider the data
term U1 (¢) = [z, [11(¢(2)) — Io(x)]* dz then

U1(6) 56 = [ 2A0(6) ~ h@DROENIN A = [ A1) o)) DL )9 det V() da,

Rn

Fig. 1. Visual Comparison on Square Translation in Noise Experiment. The above show the visual results of the noise robustness experiment. For each
row group of images: the two original images, the warped image by gradient descent, and the warped image by accelerated gradient descent. The last two
images should resemble the second if the registration is correct.



Fig. 2. Visual Comparison on Square Non-Uniform Scaling and Translation in Noise Experiment. The above show the visual results of the noise
robustness experiment. For each row group of images: the two original images, the warped image by gradient descent, and the warped image by accelerated
gradient descent. The last two images should resemble the second if the registration is correct.

where 6/5 =d0¢pop, = qb_l and we have performed a change of variables. Thus, VU; = 2V I (I1 — Iy o ¢) det V). Now
consider the regularity term Uz(¢) =[5, [V(¢(x) — x)|* dz, then

U(o) =2

Note that in integration by parts, the boundary term vanishes since we assume that ¢(x) = z as |z| — oo. Thus, VU; =
(A¢) 0 det V.

i (V(o(a) = i0)VEo(e) do = = [ Ao(@)50(a) da = [ (A0)(0(@))7 50(a) det V(o) d.

n

R

B. Stationary Conditions

Lemma 1 (Stationary Condition for the Mapping). The stationary condition of the action defined in Eqn 7 (manuscript) for
the mapping is .
I +div (vAT) = (Vy)~'VU(¢). (3)

Proof. We compute the variation of A (defined in Eqn 7 manuscript) with respect to the mapping ¢. The only terms in the
action that depend on the mapping are U and the Lagrange multiplier term associated with the mapping. Taking the variation

w.r.t the potenial term gives
- / / VU (6) - 06 da dt.
¢(R™)

Now the variation with respect to the Lagrange multiplier term:
// AT[8,6¢ + D(8¢)v] da dt = — // [0 AT + div (0AT)]6¢ dz dt,
B(R™) »(R™)

where we have integrated by parts, the div () of a matrix means the divergence of each of the columns, resulting in a row
vector, and 1) = J1) o 1). Note that we can take the variation of 1)(4(z)) = = to obtain

59 0 ¢(z) + [D(¢(x))]de(x) = 0,
30(y) = —[Di(y)]66(y).
Therefore,

§A-6¢ = //¢(R") {(vw) [atx + div (UAT)T} _ VU(¢)} - 5¢dz dt. @)

O

Lemma 2 (Stationary Condition for the Velocity). The stationary condition of the action in Eqn. 7 (manuscript) arising from
the velocity is
pv+ (VYA = pViu = 0. ()



Proof. We compute the variation w.r.t the kinetic energy:
5T~5v:/ pv - dvdz.
»(R™)

The variation of the Lagrange multiplier terms is

// M (D)dv — pVp - Svdx dt = // (V)X — pVu] - dvdxdt.
#(R™) B(R™)
Therefore,
A - v = // [pv + (V)X — pVp] - dvda dt. (6)
B(R™)
O

Lemma 3 (Stationary Condition for the Density). The stationary condition of the action in Eqn. 7 (manuscript) arising from
the velocity is

1
o+ (Do = S[vl*. (7

Proof. Note that the terms that contain the density in Eqn 7 (manuscript) are the kinetic energy and the Lagrange multiplier
corresponding to the density. We see that

0A - dp = // %\v\%p— (Oepr + Vi - v)opda dt, 8)
»(R™)

which yields the lemma. O

C. Velocity Evolution
Lemma 4. Given that (V)X = w, we have that

M+ (DN + Adiv (v) = (V) " Hoyw + (Dw)v + (Vo)w + wdiv (v)] 9

Proof. Define the Hessian as follows:

[D2lij = 03, 0%, [D*(a, b))k =Y 02, tFaib;.
ij

J

We compute

{DUVIN i = 05, (V)N = 00y Y 00N = D (95 5,0 N) + 00,910, M-
l

l

Therefore,
D[(V{)Al = D*¢(-,-) - A+ (V) (DA)

Since D[(V)\] = Dw then solving for DA gives
DX = (Vw)_l[Dw - DQw(F ) : )‘L

SO
(DX)v = (Vi) "' [(Dw)v — D*(-, v) - A]. (10)

Now differentiating (Vi) = w w.r.t ¢, we have
(Vo)A + (V)N = Byw, or I\ = (V) [Byw — (V)]

Note that 9,1 = —(D)v so
A= (V)" {opw + V[(DY)v]A}. (11)

Now computing V[(D)v] yields
(VD)) ik = 0, Y O, 0P 0" = 00,00, 0" + 0r,9)* 00"

Then multiplying the above matrix by A gives
{VIDV)0)AN =Y 00,00, 0 0 A + 05,0705, v N,

ik



which in matrix form is
VI(DY)0)IA = D?*p(-,0) - A+ (Vo) (Vi)A = D*(-,v) - A + (Vo)w

Therefore, (11) becomes
O\ = (V) oww + D¢ (-, v) - A + (Vo)w].

Combining the previous with (10) and noting that Adiv (v) = (V) " lwdiv (v) yields
I+ (DN + Mdiv (v) = (V) " Hoyw + (Dw)v + (Vv)w + wdiv (v)].

Lemma 5. If w = p(Vu —v), then
Oyw + (Dw)v + (Vo)w + wdiv (v) = —p[dyv + (Dv)v). (12)
Proof. Differentiating w = p(Vu — v), we have
dw = (9p) (Vi —v) + p(VOipn — Oyv)
Dw = (V= v)(Dp) + p[D(Vp) — Du].
Therefore,
Oyw + (Dw)v + (Vo)w + wdiv (v) = (Vu — ) (Op + Vp - v) + p[VOu — v + D(Vu)v — (Dv)v)
+ p(Vo)(Vi = v) + p(Vi — v)div (v)
= (Vi —v)(0ip + Vp- v+ pdiv (v))
+ p[VOiu — Oyv + D(Vu)v — (Dv)v + (Vo) (Vi — v)].
Note that 9;p + Vp - v + pdiv (v) = O¢p + div (pv) = 0, due to the continuity equation. Therefore,
Orw + (Dw)v + (Vv)w + wdiv (v) = p[—0:v — (Dv)v — (Vo)v + VOru + D(Vu)v + (Vo) (V)]
= p{=0w — (Dv)v — (Vo)v + V[Oip + (Dp)vl} .
By the stationary condition for the density, ;i + (Du)v = 1/2|v|2, so V[0 + (Dp)v] = (Vv)v, which gives the lemma. []

Theorem II.1 (Velocity Evolution). The evolution equation for the velocity arising from the stationarity of the action integral
is

plovo + (Dv)v] = ~VU(9). (13)

Proof. This is a combination of Lemmas 1, 4, and 5. O

D. Stationary Conditions for the Dissipative Case

Theorem IL.2 (Stationary Conditions for the Path of Least Action: Dissipative Case). The stationary conditions of the path
for the action

A= / [aT(v) — bU(6)] dt +// N[Oty + (De)o] dar dt — // O+ Vit - o] pdardt, (14)
are
O+ (DX + Mdiv (v) = b(V) " VU(¢) 15)
apv + (V)N —pVu =0 (16)
O+ Vp-v= %a|v|2. (17)

Proof. Note that
V[pU](¢) = bVU(9)

1
d[aT) - dp = / —alv|?*6pdx
o(®") 2

(5[aT]-(5v=/ apv - dv dx.
B(R™)



Therefore, using (4) and replacing VU (¢) with bVU(¢), we have
SA -6 = // {(w) [atA + div (UAT)T} - bVU(¢)} S de dt,
B(R™)
which yields the stationary condition on the mapping. Also, updating (6) yields
JA-dv = // [apv + (V)X — pV ] - dvdx dt,
»(R™)
which yields the stationary condition for the velocity. Finally, updating (8) yields
1
0A-0p = // —a|v|*6p — (O¢pu + Vi - v)dpda dt,
p(rn) 2

and that yields the last stationary condition. O

Theorem I1.3 (Evolution Equations for the Path of Least Action: Dissipative Case). The evolution equations for the stationary

conditions of the action in (14) is
pl0(av) + a(Dv)v] = =bVU (). (18)

Proof. Let w = p(Vu — av) then

yw = (0ep) (Vi — av) + p(VOyp — 9¢(av))
Dw = (Vp —av)(Dp) + p[D(Vu) — aDv).

Then
Ow + (Dw)v + (Vo)w + wdiv (v) = g(Vu — av)(Orp + Vp - v) + p[VOiu — Oy (av) + D(Vu)v — a(Dv)v)

T (V) (Vi — av) + p(Vpi — av)div (v)
= (Vu —av)(Op + Vp - v+ pdiv (v))
+ p[VOiu — ¢ (av) + D(Vup)v — a(Dv)v + (Vo) (Vi — av)]
= p{=04(av) — a(Dv)y — a(Vo)o + V(o + (D)o}
= p{—0i(av) — a(Dv)v}.

By Lemma 4 and the previous expression, we have our result. O

E. Discretization

We present the discretization of the velocity PDE Eqn. 12 (manuscipt) first. In one dimension, the terms involving v are
Burger’s equation, which is known to produce shocks. We thus use an entropy scheme. Writing the PDE component-wise, we
get

1 3 1

at’Ul = —5(9301 (’U1)2 — vg(’)wzvl — ;1}1 — ;(VU)l (19)
1 9 3 1

Ovg = —53@ (v2)* — v10y, V2 — e ;(VU)% (20)

where the subscript indicates the component of the vector. We use forward Euler for the time derivative, and for the first term
on the right hand side, we use an entropy scheme for Burger’s equation which results in the following discretization:

Oz, (vl)Q(x) ~ max{v (), 0}2 — min{v; (z), 0}2 + min{vy (z1 + Az, 23), 0}2 — max{vy (21 + Az, x2), 0}2,

where Ax is the spatial sampling size, and the 9, (v2)? follows similarly. For the second term on the right hand side of (19),
we follow the discretization of a transport equation using an up-winding scheme, which yields the following discretization:

V2 (2) 0,1 () = vo(z) - vi(z1,22) = vi(21, 22 — Az)  va(z) >0 .
vy (21,22 + Az) — vy (21,22) wva(x) <O

With regards to the gradient of potential, if we use the potential in Eqn. 13 (manuscript), then all the derivatives are discretized
using central differences, as the key term is a diffusion. The step size At/Ax < 1/ max,{|v(z)|,|Dv(z)|}.

The backward map ¢ evolves according to a transport PDE Eqn. 6 (manuscript), and thus an up-winding scheme similar to
the transport term in the velocity term is used. For the discretization of the continuity equation, we use a staggered grid (so



that the values of v are defined in between grid points and p is defined at the grid points). The discretization is just the sum
of the fluxes coming into the point:

—div (p(z)v(z)) = 2 —v;(x Pe) vix) >0 vz — Az plz — Az;) vi(z — Az;) >0
et ;[ ! ){p(x'*'Awi) ”i($)<0+ o a l){P(:c) vi(z — Az;) <0

where Ax; denotes the vector of the spatial increment Az in the i coordinate direction, v;(z) denotes the velocity defined
at the midpoint between (z1,z2) and (x1 + Az, x2), and vo(x) denotes the velocity defined at the midpoint between (x1,x2)
and (21,22 + Az). The term O,p(x) is discretized with forward Euler. This scheme is guaranteed to preserve mass.



